

https://docs.google.com/document/d/1c-HLKD55_aXsNACApYaCOBm-C-ClJGZhyvJ5x3qzcb8/edit

0s

LO 3p

-7

SZ>J, I>8 SZ > J, S>3l JZ>$§ J§>2Z

The same 3p is used for IJ, 10 and JO queues. JO mins, |J mins, |10 mins

Solves (3)



https://13pake.github.io/pc-guide/fumen-viewer/?v115@9gilzhh0A8glBtR4Rpg0D8R4g0Rpg0D8Bti0C8JeAg?WWAz8nABzngHBFbcRAS02KBPeuRAylAAA9gilzhh0A8glBt?R4Rpg0D8Btg0Rpg0D8R4i0C8JeAAA9gg0zhR4h0A8i0Bthl?g0D8RpBtglg0D8RpR4glC8JeAAPWAy/f2AwngHBFbcRAS0W?9APeuRAylAAA9gg0zhBtR4A8i0RpglR4D8g0RpglBtD8i0h?lC8JeAAA9gRph0ilR4A8Rph0BtR4D8h0zhD8h0glBtC8JeA?APVAR7XHBwngHBFbcRASEazAU078AZAAAA9gRph0ilR4A8R?ph0zhD8h0BtR4D8h0glBtC8JeAAPUAUlOOBFrnRASo78AYL?CEB4nAVB
https://13pake.github.io/pc-guide/fumen-viewer/?v115@9gRpBtQ4hlh0A8Rph0R4glg0D8g0BtQ4glg0D8g0zh?C8JeAgWWAy/f2AwngHBFbcRAS0W9APeuRAylAAA9gilBtRp?R4A8gli0BtR4D8h0zhD8i0RpC8JeAAA9gRph0ilR4A8Rph0?BtR4D8h0zhD8h0glBtC8JeAAA9gRpwhBtR4h0A8RpwhglBt?h0D8whglR4h0D8whhlh0C8JeAAPVAR7XHBwngHBFbcRASEa?zAU078AZAAAA9gRpwhg0R4ilA8Rpwhi0glAtD8whi0BtD8w?hR4g0AtC8JeAAA
https://13pake.github.io/pc-guide/fumen-viewer/?v115@9gili0whh0A8glBtR4g0whg0D8R4Rpwhg0D8BtRpwh?C8JeAgWWAz8nABzngHBFbcRAS02KBPeuRAylAAA9gili0wh?h0A8glBtR4g0whg0D8BtRpwhg0D8R4RpwhC8JeAAA9gRph0?ilR4A8RpBtglg0R4D8g0Bti0D8g0zhC8JeAAPWAy/f2Awng?HBFbcRAS0W9APeuRAylAAA9gRph0Athlh0A8Rpg0BtR4g0D?8g0AtR4glg0D8zhglC8JeAAPVARBwKB3ngHBFbcRASkezAU?078AZAAAA9gRph0ilR4A8Rph0BtR4D8h0zhD8h0glBtC8Je?AAPVAR7XHBwngHBFbcRASEazAU078AZAAAA

SZ>0

0zZ>S

0s>2Z

IL 3p

Solves (4)

J last

O last

S last

Z last

Shift the JT antipco one to the left for another IJ setups with only 3 mins!



https://13pake.github.io/pc-guide/fumen-viewer/?v115@9gilRpB8R4whglBtRpA8R4wwwhB8i0B8xwwhB8Btg0?C8wwwhJeAgWWA3/f2AwngHBFbcRASU7KBPeuRAylAAA9gRp?ilB8R4whRpglAtg0A8R4wwwhB8Btg0B8xwwhB8Ath0C8www?hJeAAPWAV4f2AwngHBFbcRASEJEBPeuRAylAAA9gRpwhhlB?8R4AtRpwhwwglA8R4BtB8whxwB8i0B8whwwglC8Atg0JeAA?A

